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Appendix C

Figure 1. Reported Speaking with Others as Often as Would Like (Question 14)

To begin to understand the relationship between age and the needs 
measured in the SNA, the NYC Aging Research and Evaluation team 
ran a series of chi-square analyses. Not every question from the 
survey is reported here, as this appendix includes only the analyses 
that revealed a significant relationship (p < .05) between age and the 
measured need. 

However, it is important to remember that these analyses only show 
an association between age and the specific need. They should not 
be interpreted to mean that age is the sole, or even primary, driver of 
the need. Additional analyses in forthcoming reports will explore the 
effects that factors like gender, race/ethnicity, location, employment, 
and caregiver status have on each of the following needs. In some 
cases, particularly where the effect size is very small (Cramer’s V 
< .10), follow-up analyses may show that these other variables are 
better predictors of need than age. 

Χ2(3) = 23.71, p < .001, Cramer’s V = .06
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Figure 2. Desire to Volunteer Among Those Who Are Not Currently Volunteering (Question 16)

Χ2(3) = 217.02, p < .001, Cramer’s V = .22
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Figure 3. Reported Having Internet Access in Home (Question 17)

Χ2(3) = 83.37, p < .001, Cramer’s V = .11
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Figure 4. Reported Owning and Using a Computer or Tablet (Question 19)

Χ2(3) = 148.40, p < .001, Cramer’s V = .15
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Figure 5. Reported Having Stable, Reliable Housing (Question 21)

Χ2(3) = 142.93, p < .001, Cramer’s V = .15
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Figure 6. Indicated At Least One Accessibility Problem in Home Environment (Question 22)

Χ2(3) =12.62, p = .006, Cramer’s V = .04
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Figure 7. Reported Having an Emergency Plan (Question 23)

Χ2(3) = 31.68, p < .001, Cramer’s V = .07
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Figure 8. Indicated Trouble Paying At Least One Bill (Question 24)

Χ2(3) = 173.75, p < .001, Cramer’s V = .16
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Figure 9. Indicated Limited or No Ability to Purchase Health Food in Your Community (Question 25) 

Χ2(3) = 87.09, p < .001, Cramer’s V = .12
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Figure 10. Attended an OAC in the Past Year (Question 28)

Χ2(3) = 469.90, p < .001, Cramer’s V = .28
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Figure 11. Reported Experiencing Age Discrimination (Question 30)

Χ2(3) = 122.51, p < .001, Cramer’s V = .14
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Figure 12. Currently Receives Assistance With At Least One Regular Task (Question 37)

Χ2(3) = 129.00, p < .001, Cramer’s V = .17
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Figure 13. Reported Seeing a Healthcare Provider in the Past Year (Question 38)

Χ2(3) =11.85, p = .008, Cramer’s V = .05
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Figure 14. Received at Least One Vaccine or Screening in the Past Year (Question 40)

Χ2(3) =16.41, p = .008, Cramer’s V = .06
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Figure 15. Reported Deafness or a Serious Hearing Impairment (Question 42)

Χ2(3) =189.59, p < .001, Cramer’s V = .20
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Figure 16. Reported Blindness or a Serious Vision Impairment (Question 42)

Χ2(3) =53.61, p < .001, Cramer’s V = .11
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Figure 17. Use of Hearing Aids Among Hearing Impaired (Question 43)

Χ2(3) =14.26, p = .003, Cramer’s V = .19
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Figure 18. Indicated At Least One Limitation on the Ability to Leave Home (Question 44)

Χ2(3) =71.34, p < .001, Cramer’s V = .12
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Figure 19. Indicated a Possible Mental Health Need (Question 47)

Χ2(3) =25.84, p < .001, Cramer’s V = .08


